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QUESTION 1

You are asked to deploy 20 QFX Series devices using ZTP Each QFX5 100 requires FTP server. In this scenario, which
two component must you configure on the DHCP Server? (Choose two.)

A. The MAC address of the FTP server

B. The IP address of the FTP server

C. The MAC address of each QFX5100

D. The MAC address of each FTP QFX5100

Correct Answer: AB

QUESTION 2

Which two statements define the use of route targets and route distinguishers in an EVPN? (Choose two.)
A. Route distinguishers ensure that routes from different client remain unique within the data center domain
B. Route targets ensure that routes from different clients remain unique within the data center domain

C. Route distinguishers identify the VRF into which the route should be placed

D. Route targets identify the VRF into which the route should be placed

Correct Answer: AD

QUESTION 3

You have deployed a VXLAN as shown in the exhibit Leafl, leaf3, spinel, and spine2 have been configured as VTEPs.
Host1 cannot communicate with host2.
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Referring to the exhibit, how would you solve this problem?

A. The VLAN ID on the connected to host2 must be changed to VLAN 100

B. A DCI connected must be created between the VLANs

C. Hostl and host2 must be placed in the same VRF

D. A layer 3 VXLAN gateway must be configured on at least on at least one of the devices

Correct Answer: D

QUESTION 4

What are three advantages of using MPLS for data center interconnects? (Choose two.)
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A. Dedicated MPLS backbones for Layer 1 and Layer 3 DCIs
B. Any to any connectivity

C. Dedicated connections between customer sites

D. Sub 50 ms failover times

E. Traffic engineering

Correct Answer: ADE

QUESTION 5

Which device provides microsegmentation in a data center network?
A. VSRX

B. EX4300

C. vMX

D. QFX5100

Correct Answer: A
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